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FaiS oo olo ]y HaiS alaS chmex Cledbl 45 o p 0.5

oI (f s (F lobLs(Y e ()

100+] Male 0.0% 0.0% Female
05.99 0.0% 0.0%
90-94 0.0% 0.0%

41.A village has an area of 5 km?2 and a population density of 600 people
per km2.Calculate the number of people living in the village?

1) 6000 2) 3000 3) 2000 4)5000

42 What is erosion?

1) Is a mountain building process.

2) Is produced from soils.

3) A similar process, weathering, breaks down or dissolves rock.

4) Water, wind, temperature change, all help break down parent material.
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43.what is Y axis in this picture? Spatlal Margln of PrOﬁtabi“ty

1) Demand I
2) Price Point e d)dp‘
3) Infrastructure — :
Loss g A oy~ Loss
4) Sale
o.\f". Splu.‘ Margln
~—— Distance — e DISIANCE et

44.Considering the remarkable diversity and heterogeneity of the central
part of the below image, what kind of urban morphology do you see?

1) American 2) Middle East 3) European 4) African

45.How fast to we need to stop burning fossil fuels to limit global
temperature rise to 2 degrees C? (3.6 degrees F)

1) We need to stop burning fossil fuels by 2100.

2) We need to stop burning fossil fuels by 2040.

3) Fossil fuels don't mater, the Sun will cool and so will the Earth.
4) It's already too late to stay below the 2-degree threshold.
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46.What is the most complete concept that you can see from the picture of
Greek settlements below?

1) Attica 2) Polis 3) Piraeus 4) Athen

47 What causes the strengthening of the winter pattern of Hadley cells
during El Nino?

1)Intensification of public transport.

2)Intensification of horizontal wind.

3)Intensification of longitudinal temperature gradient.
4) Intensification of latitudinal temperature gradient.

48.What does cause difference between the two countries?
1)The length of the river 2) The river bed change
3)The Talug line 4) The fishing
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49.Which factor has a more important role in causing floods?

1)Rain intensity and duration

2)The climatic conditions of the basin
3)The extent and size of the watershed
4)The volume of runoff on the basin

50.The topographic map below shows a volcanic cone. How many feet high
is the crater floor of this volcanic cone?

1) 800 2)900 3) 1000 4) 1020

Cantour inerval 20 fest "l -
el - Scale 1:17000
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